
2025-01-01 

EX

PL

JH

PA

HG

RG

MO

AC

HW

TK

MH

M
O

TI
O

N

U.S. Patent No. 8,418,425 & other patents pending

TR

MO

FT

GL

12”  Flip Down Caster 
Mount

MT-MO-CM-1202-0800

Made To 
Order

Standard Material A36 Low Carbon Steel
Standard Finish 28- Gloss Yellow Powder Coated
Available Finish(es) 10-12 Zinc | 20-30 Powder Coated
Weight 18.30lbs (8.300kg)* *Weight for Caster plate - doesn’t include caster
Bolt Hole Size 11/16” (17.46mm)
Recommended
Hardware

5/8”-11 Thread Grade 8 Bolt, 2” Long | 5/8” SAE Zinc-Plated Washer | 5/8”-11 
Thread, Grade 8 Hex Nut | (M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, 
Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools Tool Kit 1

Serialized & 
Traceable

CompatibleIn Stock



2025-01-01 

PL

JH

PA

HG

MO

RG

AC

HW

TK

MH

M
O

TI
O

N

U.S. Patent No. 8,418,425 & other patents pending

TR

EX

MO

GL

FT

8.
00

20
3.

20

 
3.

00
76

.2
0

 

 
3.

00
76

.2
0

 

 
3.

00
76

.2
0

 
.6

9
17

.4
6

 
14

.7
5

37
4.

65
 

 
13

.3
1

33
8.

14
 

 
2.

32
58

.8
7

 

 
3.

38
85

.7
3

 

 
5.

25
13

3.
35

 

 
3.

00
76

.2
0

 
.5

3
13

.4
9

 
10

.1
3

25
7.

18
 

 
12

.2
5

31
1.

15
  
2.

81
71

.4
4

 

 
12

.7
5

32
3.

85
 

 
11

.0
6

28
0.

99
 

 
12

.4
6

31
6.

58
 

 
5.

06
12

8.
59

 

PA
RT

 N
UM

BE
R

D
ES

C
RI

PT
IO

N
Q

TY
.

M
T-

M
O

-C
M

-1
20

2-
08

00
_0

A
C

A
ST

ER
 M

O
UN

T
1

M
T-

HW
-C

A
-0

25
0-

PI
-0

8-
05

25
-S

8"
 S

W
IV

EL
 C

A
ST

ER
1

M
T-

HW
-P

N
-C

P-
15

00
-0

04
0-

01
06

15
" C

A
ST

ER
 H

ITC
H 

PI
N

1

1/
2"

-1
3 

X 
1.

75
" Z

IN
C

 P
LA

TE
D

 F
LA

T 
HE

A
D

C
A

ST
ER

 H
A

RD
W

A
RE

4

1/
2"

 G
RA

D
E 

8 
ZI

N
C

 P
LA

TE
D

 W
A

SH
ER

C
A

ST
ER

 H
A

RD
W

A
RE

4

1/
2"

-1
3 

G
RA

D
E 

8 
N

YL
O

C
 N

UT
C

A
ST

ER
 H

A
RD

W
A

RE
4

5/
8"

-1
1 

X 
2.

5"
 G

RA
D

E 
8 

HE
X 

BO
LT

M
O

UN
TIN

G
 H

A
RD

W
A

RE
2

5/
8"

 G
RA

D
E 

8 
ZI

N
C

 P
LA

TE
D

 W
A

SH
ER

M
O

UN
TIN

G
 H

A
RD

W
A

RE
4

5/
8"

-1
1 

G
RA

D
E 

8 
N

YL
O

C
 N

UT
M

O
UN

TIN
G

 H
A

RD
W

A
RE

2

ITE
M

 N
O

.
PA

RT
 N

UM
BE

R
D

ES
C

RI
PT

IO
N

Q
TY

.

1
M

T-
TR

-1
2-

12
-X

XX
-S

IM
PL

E
12

0-
A

L
1

2
M

T-
M

O
-C

M
-1

20
2-

08
00

_0
A

1

3
M

T-
HW

-C
A

-0
25

0-
PI

-0
8-

05
25

-S
1

4
M

T-
HW

-P
N

-C
P-

15
00

-0
04

0-
01

06
15

" C
as

te
r P

in
1

5
M

T-
HW

-B
T-

C
SF

-A
LN

-B
LO

-0
17

5-
12

8-
FT

4

6
M

T-
HW

-W
A

-S
A

E-
00

09
-0

05
33

-0
10

6-
ZI

P
4

7
94

90
0A

51
0

4

8
5/

8"
-1

1 
X 

4"
 G

RA
D

E 
8 

HE
X 

BO
LT

 S
ET

4

9
M

T-
HW

-B
T-

HE
X-

HE
X-

G
R8

-0
25

0-
01

32
2

10
94

90
0A

03
5

2

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: A

PA
RT

 N
UM

BE
R:

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

5/
20

/2
02

4

M
T-

M
O

-C
M

-1
20

2-
08

00

12
" F

LIP
 U

P/
D

O
W

N
 C

A
ST

ER
 

M
O

UN
T 

A
SS

EM
BL

Y


